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Unit 3.2 Factoring Quadratics with a Leading Coefficient of 1
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a. 2x3 — x2 4x — 2
2 X2 (241
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C. 2wx+ 10w+ 7x ¥+ 3
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b. x3 — Sx%— 3x + 15
X (x-9)-3(x-5)
[ (x-5)(x?- 3)\

d. 6x* —24x3 — 5x — 45

nit will be focused on factoring quadratics in standard form, which is

When factoring trinomials, we are basically trying to create a situation where we can use

factoring by grouping. To do this, our main focus will be to split the middle term into two

terms.
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(Factor each expression.
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\ ) i. Find two numbers that multiply to a - ¢
(the outside) and add to b (the middle).

'?_;ii. Split the middle term into two pieces
using the numbers from part (i).

@ju Factor by Grouping
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Look back on all of the examples that you did. What patterns do you notice?
The nombers Hhek MuH—iP\Y to the middle derm a\wmys ead, vp -
as dhe pombers in the portatheses, N

When a=1, this pattern happens every time! This means that when a=1, we can use a shortcut

ORI % G only o shectot with no coehicient in front of X2

3) Fa expression.
a. % ox* b.(xd+4x €32) -%2x?
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Now that we’ve had practice when a=1, let’s combine this with a greatest common factor.
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4) Factor each expression.
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Let’s look at some application problems of factoring a quadratic trinomial:
5) A square has an[%ﬁz—a]of x% + 10x + 25. Write an expression in terms of x for the possible

W of the square. 2
A= Lowo | +10x £25 Z,? :
Exjs) (x¥5)) o

6) The Johnsons are putting a fence in their backyard, but are very picky about the ratio of the
fence dimensions. They want to make sure that the area of the lawn is always represented
by x? —qx + 20. What expressions could represent the dimensions of their fence?
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